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03 A& S THHI 1,000 800 200
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Al 360,000
401 Al HIE S 800,000 1,000,000 A 200,000
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01 A& H| 781,760 978,000 A 196,240
OuA A S A PRl
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Al 351,792
02 2teld| 14,240 16,234 AN 1,994
QA A S A & &)
14,240,000 14,240
= 7,832
Al 6,408
03 Al 201 | 4,000 5,766 N1,766
QUEHA A SBH ALY AES2UHI (X E)
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o= 2,200
Al 1,800
AYoller 8% A KA 2,507,950 120,000 2,387,950
= 1,755,565
o=} 225,716
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401 Al HI L 2 04| 2,507,950 120,000 2,387,950
= 1,755,565
o= 225,716
Al 526,669
01 Al&H| 2,470,331 120,000 2,350,331
O MLl et 2,470,331,000 2,470,331
= 1,729,232
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Al 518,769
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03 AlE 21| 2,508 0 2,508
OAEale 8= MEIEJAE AIZL20H|
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= 1,755
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Al K27
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&< 1,782
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Oy 2ol sits e &4 30,000%43H 1,290
12 JIEtE A2 11,880 0 11,880
OF2Yeel UotMe B3
6,000*11J1 & ~180H 11,880
= 1,782
Al 10,098
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= 300,066
o= 90,019
Al 360,080
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1,360
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1,428

= M W

01 a] 3,400 3,400 0
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= N W
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5,461
2,457
5,734
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308 XX SHHSOIH 3,168 3,168 0
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Otz RUAASINE X (S8 S32 £
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405 XHoHFE S HI 3,000 0 3,000
01 XA 2B F S| 3,000 0 3,000
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